
Name: ___________
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Draw a line to connect the 
three parts that go together.

I checked my work.
My work was checked by __________

Number 
Sense

because ____________________

Juanita's Ducks

3

1

7
This work makes me feel:

Juanita has 10 ducks. 
3 of her ducks go away.
How many ducks does 
Juanita have left?

6-5

7-4

10-3

Juanita has 7 ducks. 
4 of her ducks go away.
How many ducks does 
Juanita have left?

Juanita has 6 ducks. 
5 of her ducks go away.
How many ducks does 
Juanita have left?



Find My Partners
Name:_________

Each 
problem 
has four
matching 
circles. Make 
the matches 
the same 
color.

My work was checked by  ______________

There were 
5 bees in a hive. 

2 bees flew away. 
How many bees 
are left in the 

hive?

2-1

Word 
Problems
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There were 
4 cows in a field. 
2 of the cows 

walked away. How 
many cows are 

left in 
the field?

There were 
2 sheep in a barn.
1 of the sheep fell 
asleep. How many 

sheep are still 
awake in the 

barn?

4-2

2

1

3
5-2



Choose a color for each word problem. Find 
and color the matching boxes the same color. 

Name:______________________________

My work was checked by  _________________
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Dan has 5 dogs. 
He gives 1 dog to 
Sally. 
How many dogs 
does he have left?

3

5

5 - 1

2

4 Dan's Dogs 4-2

6 - 3

7-2
Dan has 7 dogs. 
He gives 2 dogs to 
Sally. 
How many dogs 
does he have left?

Dan has 4 dogs. 
He gives 2 dogs to 
Sally. 
How many dogs 
does he have left?

Dan has 6 dogs. 
He gives 3 dogs to 
Sally. 
How many dogs 
does he have left?



Word Problems 
Missing Addends Addition 

or Subtraction to 10
Comparison Problems -

Missing Addends:
Tom had 2 bugs. 
Sam has 3 bugs. 

How many more bugs does Sam have?
There are 2 ways to solve:

2 + ? = 3
3 – 2 = ? 

*There are 2 versions of some pages to 
use either addition or subtraction.
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Name:_____________

Word Problems
Word
Problems

Tom has 3 ladybugs. Toya has 5 ladybugs. 
How many more ladybugs does Toya have 
than Tom?

Circle  the numbers.    Underline the key words.

Write the
Equation

+  -
Choose and color:

3 +    = 5 Toya has        more ladybugs.

Tom’s ladybugs

Toya’s ladybugs


